O
Ligninger

3r = 12



3r = 12

Ligninger

15 |
10 |

X

o a3 o

123456



3r = 12

Ligninger

15 |

10 |

X

o a3 o

123456



Ligninger

15 |

10 |

X

o a3 o

123456



Ligninger

15 |

10 |

X

6-5-4-3-9_

123456



lx

Ligninger

15 |

10 |

X

6-5-4-3-9_

123456



lr = —
lr =4

L= {4}

Ligninger

15 |

10 |

X

6-5-4-3-9_

123456



O
Ligninger

2cr+5 =9



Ligninger

2c+5 =9

pa x
—6—%—2:5 | 123456
—4 |




Ligninger

2c+5 =9

pa x
—6—%—2:5 | 123456
—4 |




2c+5 =9

204+5—0=9—95

Ligninger

/{

X

_6_7

3-2-1 |

123456



Ligninger
20 +5 =19
204+5—0=9—-05

20 = 9—95 12 |

pa x
—6—%—2:5 | 123456
—4 |




Ligninger

2c+5 =9
2 +5—5=9—5 17
14 |
20 = 9 — 5 12 |
10 |
20 = 4 8 |
6,,

pa x
—6—%—2:5 | 123456
—4 |




Ligninger

2c+5H =9

2 +5-5=09-_5 12”

14 |

233:9—5 12 |

10 |

2r = 4 8 |

6,,

2m_4 {
2 2 /5 X
—6-5-43-2-} | 1 23 4 5 6




Ligninger

2c+5 =9
2 +5-5=9-5 17
14 |
20 = 9 — 5 12 |
10 |
20 = 4 8 |
6,,
2v 4 [
2 2 /{w
4 —6—%—2;5 | 123456
lx = =
2 —4 |




Ligninger

2c+5H =9
2 +5—5=9_5 17
14 |
2c =9 —5 12 |
10 |
2r = 4 8 |
6,,
2m_4 {
2 2 /{x
4 —6—%—2;5 | 123456
lr = —
2 —4 |
1$:2 —8 !



Ligninger

2c+5H =9
2 +5—5=9_5 17
14 |
2c =9 —5 12 |
10 |
2r = 4 8 |
6,,
2m_4 {
2 2 /{x
4 —6—%—2;5 | 123456
lr = —
2 —4 |
1$:2 —8 !

L= {2



O
Ligninger

r+8 = 3x



rx+8 = 3x

Ligninger

50 |
40 |
30 |
20 |
10}

X

123456



Ligninger

rx+8 = 3x

50 |
40 |
30 |
20 |

10}
T

—6—5—4—3=2=1| 1 2 3 4 5 6




Ligninger
(x+8 = 3x

40 |
30 |
20 |

10 }
T

—6—5—4—3=7=1| 1 2 3 4 5 6




Ligninger
r+8 = 3x
r+8—Tr =3x—Tx =0 17

8 = 3x — Tx 10
30 |

20 |

10 }
T

—6—5—4—3=7=1| 1 2 3 4 5 6




Ligninger
r+8 = 3x
r+8—Tr =3x—Tx =0 17

8 = 3x — Tx 10
30 |

8 = —Ax 20 |

10 }
T

—6—5—4—3=2=1| 1 2 3 4 5 6




rx+8 = 3x

x+8—7Txr = 3x — Tx

8 =3x — Tx

8 = —Ax
8 —4x

—4 —4

Ligninger

50 |
40 |
30 |
20 |
10 }

X

6543971

123456



Ligninger

r+8 = 3x

8 =3x — Tx 40|

30 |

8 E— —4513 20 |

8 —A4x 10 4
__4 — _4 | | | | | ‘ ; | | | | 1517
—06—5H—4—-3-2=1 1 2 3 4 5 6

L, T
") —20




rx+8 = 3x

x+8—7Txr = 3x — Tx

8 =3x — Tx
8 = —Ax
8 _—433
—4 -4
—4x
9 - 7
—4

Ligninger

50 |
40 |
30 |
20 |
10 |

X

6543971

123456



rx+8 = 3x

x+8—7Txr = 3x — Tx

8 =3x — Tx
8 = —Ax
8 _—433
—4 -4
—4x
9 - 7
—4
— 2 = lx

Ligninger

50 |
40 |
30 |
20 |
10 |

X

6543971

123456



O
Ligninger

3xr+7 = bx — 3



Ligninger

3r+7 = bxr —3

30 |
25 |
20 |
15 |
10 |

/ x

391|123 456789




Ligninger

3r+7 = dxr — 3 Y
40 |
39 |
30 |
25 |
20 |
15 |
10 |

—3-2-14 123456789
{0 |

s,




Ligninger
x+7 =bxr—3

x+T7+3 =>dx—3+3 40 |

32-k( 123456789




Ligninger
3x+7 =5r —3

3r+7+3=>0x—3+3

3x 4+ 10 = o0 — 3+ 3

3244123456789
{0 |




3r+7 =br—3

3r+7+3=>0x—3+3

3x 4+ 10 = o0 — 3+ 3

3r + 10 = oz

Ligninger

123456789



3r+7 =br—3

3r+7+3=>0x—3+3

3x 4+ 10 = o0 — 3+ 3

3r + 10 = oz

3rx+ 10 — 3xr = 5x — 3x

Ligninger

123456789



3r+7 =br—3

3r+7+3=>0x—3+3

3x 4+ 10 = o0 — 3+ 3

3r + 10 = oz

3rx+ 10 — 3xr = 5x — 3x

10 = 52 — 3x

Ligninger

123456789



Ligninger
3x+7 =5r —3

3r+10 = bxr —3+ 3 Y
3r + 10 = dx
3x + 10 — 32z = bx — 3x

10 = bx — 3x

10 = 2z

3214123456789
10 |




3r+7 =bxr—3

3r + 10 = oz

3xr+ 10 — 3x = bxr — 3x

10 = bxr — 3x
10 = 2x
10_2:1:
2 2

Ligninger

123456789



Ligninger

dx+7 =5bxr—3 Y
40 |
3x+10 — 3x = Sx — 3x 35 |
30 |
10 = 52 — 37 25 |
20 |
15 |
10 2 ]
2 2 37123456789
B 10 |
h = lx 15 |



3r+7 = bxr —3

3xr+ 10 — 3x = bxr — 3x

10 = bxr — 3x
10 = 2x
10_2:1:
2 2
h = lx

Ligninger

40 |
30 |
30 |
20 |
20 |
15 |
10|

39

s,

123456789
{0 |



